/DIRB
3UDFRZQLN 5RINiDG  GU 3DZFRZVND $QQD 7\J

SRQLHG]LD&HN

7\J

=DU]aG]DQIH IDNRGFlg

Z G 3DZIRZVND $QQD
( 2)+=$5/
=35

RVIDIQH JDICFID  PLQ

7\J

=DU1aG]DQIH RSHUDF\IQH
Z G 3DZIRZVND $QQD
“C )+ =$5/
=35

RVIDIQH JDICFID ~ PLQ

gu

&]

3w

6R

QLHG]LHOD

NI NI
=DU]aG]DQH IDNRGFlg Z GU =DU]aG]DQH RSHUDFNIQH Z GU
3DZIRZVND $QQD =% 2)+=$5 3DZIRZVND $QQD =% o)+ =$5
5 =35 5 =35
7\G] 7\G]

=DU]4G]DQH IDNRGFlg =DU]4G]DQIH RSHUDF\IQH

Z GU3DZIRZVND $QQD Z GU3DZIRZVND $QQD

=% )+=$55 =% )+=$55

=35 =35




